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for the questions.

PART-A (¥ - 92)

For New Course

Q. No. 1 carries 1 mark each (any four) ............ 1x4 =
Q. No. 2 carries 2 marks each (any five)......... 2x5 =10

Q. No. 3 carries 3 marks each (any two) ........... 3x2 =
Q. No. 4 carries 6 marks each (any twoj ........... 6x2 =12

Q. No. 5 carries 8 marks each (any onej ........... 8x1 =
' - Total =40

PART-B (4 - Sod)
For New Course . X

Q. No. 6 carries 1 mark each (any four) ............ 1x4 =
Q. No. 7 carries 2 marks each (any five)........... 2x5=10

Q. No. 8 carries 3 marks each f{any two} .......... .3x2 =
Q. No. 9 carries 6 marks each (any two) .........6x2 =12

Q. No. 10 carries 8 marks each fany one)......... 8x1 =
' Total =40
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PART-A / 3-8 [ 3-89 | H-&IM

% (rntroductory Macroeconomics )
(i wefFwr 57 )

S (eIt welfdemm 7 )

( g5 Traferfy Ry )

1. Give short answers to any four of the following que$tions :
1x4=4

SoR [Riz@Iear S e oY S i ¢

SO @A DI AT T Tow wie ¢ |

Tt ARG A A g mm G

() Who is known as the father of Macroeconamic; >
afean adfemd Py I P T e
Tl SRR S @.vfﬁfﬁé?
ot ey fav G A o S 2
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TTTRERLEERL LR A e

(i)

(iii)

(iv)

What are thé two sectors studied in ‘two-sector economy’ ?
RS wMe'n W (R 70/ 467 R Aol F91 22

TRRefTE LRSS FUA I 7f5 AeR ara SEea! 331 23?2

‘ﬁ@ﬁmmﬂﬁmmﬁmﬁ@ﬁw
SN2

Write the full form of FRBM Act, 2003.

* FRBM W12, 2000 357> ot fora |

' FRBM TI12d, 2000~83 375/ 7ot (1041 |

t

FRBM &, 2003 i a7 wewa fert1 |

“Voluntary unemployment can exist in an ecoriomy with
full employment equlhbnum » Write whetlier thls statement

- 18 correct or incorrect.

| “14ﬁqﬁwmw wa@ﬁam—wmmﬁwmw
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“qﬁﬁq@mwwwaﬁwﬁﬁ@w SEIERIEIA)
ml”@ﬁaﬁ SR AR camﬂ '

“a@fwﬁﬂawwﬁmuﬂmw@mﬁmmmw
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' (v} Inwhich year the ‘Breeton Woods’ Conference of the United

WG
AT R Ton,” i (@ 7o wi%tq’r%av

Nations was held ?

SIEHCTR R B, RS (o 0 WS e
W”@mﬁ‘mm'ﬂmﬂﬁmmﬁwm7

(vi) When the level of effective demand is attained ?

’ﬁyﬁsﬁﬁﬁ@ﬁﬂ¢ﬁmﬂm@§§?"
i iy e e

(vii) NNPp = NNPMPQ;. | o £ | (Fézz in the blank)
@ww NNP =W€WNNP—+I" (ﬂrﬁ?éﬁe{;@r)
A I NNP=W'W@ NNP;__'| (TR )
ﬁ@ens'ama NNP=HIGIR3'@?TWNNP‘—'_____-_|~ ‘ |

(et s S @)
4]
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2. Answer any five of the following ques‘tions’: 2x5=10
woR RTI o5ty e Bwa il 3
fesE Tt ""fﬁSﬁ AU RGIE
TeTART STARErEAT FiaT SRR R
() Write two diff;axjgnces' betwééﬁ difect tax and indirect tax.
mwwwwmw@ e
SROTTF T G ﬂmw ﬁ‘vh%l sl
2?15?[ m ol @mﬁw @Ghmﬁ I?Fﬁ R fort |
(i) What do you understand by ‘paradox of thrlft’
‘ﬁwﬁ—ﬁ mala qt%ma ﬁs qm 42
ﬁwﬁﬁa Wﬁr‘ﬁma e} IS a?t Slalk
gwm:rﬁﬂmm ng’m? |

(zu) Write one similarity and one difference between capital goods
" and intermediate goods. ‘

qa@mwwm@m GBI FNTY by #iie ferat |
\\)Y MP”'
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"R B3 G MRS WO 3B A R 43505 A1y (T
B 9GO wersif 99 9 Tetd 7 9l wRe fer |

(iv) Explain the concept of ex-ante investment and ex-post
/ investment. '
p

?

et Rl s cogr R Rl gorqei B L
eepfire R @ o R et 7 |

m@m@wmmm@wmmﬁ@w
fer| <%

(v) - What are sources of supply of foreign currency in an
economy ? | . '

W@%@Wﬁtﬁﬂw-@m@wﬁgﬁs%?
: < e foed I BT A A
‘n@fﬂm@mn@ﬁﬁﬁmﬁmmmv

(vi) leferentlate between revenue expend1ture and capital
. expenditure.

R T R ] G AT #A14 cﬁa{\@m
AT A3 3% SFLET) O G A1 (7S |

31T T ST G T TSR e fefe
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“(vii) What do you understand by devaluation of domestic
currency ? Write with an example.

CPTR TEIR S e & e 2 SngaemE @t |
CPTR IR SR TE0S ) (A ? SRR A
TRRIN mﬁﬁwg@mmm_?ﬁﬁ?ﬁﬁtl

3. Answer any two of the followmg quest1ons 3x2=6
R ﬁmm zﬁ‘rm Soa e

mmmmﬁm@mmo-

T

Wﬁmwﬁamu?#@hmﬁmmﬁ

(i) Inan economy margmal propens1ty to save,is O. 5. What
o owill be the 1ncrease in income if there is a new investment

of Rs. 600. crores ?

wzﬁﬁawmﬁmmmmo smmm@mo @ TR
mﬁmﬁwﬁﬁs%ﬂmﬂﬁmﬁmwﬁwv

aasf%mﬁf%a 2iffee Ay a?crmiﬂ o.slg?ﬁvt CFTE 600 (I BIwIR
g RATI SHEIETS T AT T S e T ? |

ﬁ@ﬁﬁﬁﬁwﬁfwﬁmaﬁosﬁmwo%ﬁﬁ
W@WWW,WWWWW?
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(i) What is fiscal policy ? Write its two objectives ? 1+2=3
et o o 2 3G
ey S e @x 75 Sre @A | | |
Wmﬁumﬁﬁhnm?éﬁﬁhﬁaﬁaﬁﬂl

(i) How financial deficits can be reduced ? Explain briefly.
Rt i it wm v o1 2 bt et =41 |
I 9l Pt v v mvﬁé?mmﬁamw:

- m’wwmm?gﬁ%@m

(iv) In the context of natlonal income accountmg, analyse the

concept of planned and unplanned change in inventories
with a hypothet1cal example. |

mﬁzxm.ﬂm 2AR9TS 2{S TR iR Wi s ARed
ARl I Tizad <bra S @R | |

SIS ﬂmmﬁﬁ’ﬁmﬂmawwﬁ%m'
176l Gfo e Suizaced 21T IR @Al | |

mmmmmmﬁmmﬁm%
At AR g i fafefe At S e
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4. Answer any two of the following questions : 6%x2=12
o R B e T e
A (T Y 208 Tea S ¢

(i) What is balance of payment ? Explain its components.
‘ | 1+5=6

AR T o 2 3R AR TN |
?{ﬁt‘mﬁwﬁ?mﬁmaﬂﬂnmL
T g T 2 A SR SE

(if) Explain the process of credit creation by ‘cqfhmercial banks.

What is money multiplier ? 5+1=6

e e el 3BT afdFmn i 9 | g o e
i iEa el 3 el G | e e
et daF R A e R T A
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(m} What is aggregate demand ? erte about its components.

| S

i < 4
o

e

A - 1+5=6

- e stz &2 2ar Someniza R &

T b1fw R 2 @@ SoirEnea KA @A

m@mm?aﬁammﬁu

(iv) Is GDP an 1ndlcator of welfare of a natlon ? Jusnfy your

answer

’

GDP mawwwﬁmmvmawa%q@—mml
GDP & «zf mw«mﬁmm‘? c—ma@—caw%mm

GDP mmwﬁwmwmmﬁw:ﬁmal

S. ’An_swer any .bne of the followihg_ quesfien_s : ‘ 8><.i=8
_Eﬂaﬁhwwwéﬁemzﬁeaﬁmsgd
ﬁ@mcvﬁﬂF#ﬂaﬁﬁG@ﬁﬁﬁﬁez
(i) What is value addition ? Explain the value added method

of calculating’ national income. Write an 1mportant merit of
this method. 4 1+6+1=8
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SF SRS 6 SO S S F KA oIS [l F4 1 92
@S b1 & et &7l |

T SRCAEA 2 SIS S S o LA 2 141 Tl |

imod 90 2w, R4t |

I AR T2 FEIR 1 fade WAl 98 S
TR 489 1 3 seaft iR e @ fer

(u) Write about the quantltatlve and qualltatlve measures used

by the central bank to regulate money supply in an economy.

@@ﬂ@ww@f—wmﬂmﬁmwﬁwﬁ]mwmw
W@WWW%@H

wﬁﬁmqm menaﬁmww @@ammwwﬁm«w

«ﬂawww?{ﬁmommﬁﬂm@mm

MTWWWWWI
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(iij) Explain the working of investment multiplier with example.

What is backward working of investment multiplier ?
7+1=8

v e s mqﬂi = TRl R xia K LD
o R | |

RRc @Wwefﬁm SRR I T r.ﬁﬁmﬁ el ST
e A2 | |

@wmwmﬁ@fwwa@a@wmﬁ
SIS Sesan =1 2 e
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' PART-B / -9 / 4-9ie% / @-argrit
(Indian Economic Developkmclznt)'
(©1e7 wa/?m%%@‘fm )
(e s S)
( s e )
6 Give short answer to any four of the follOWiﬁé ,.questions :
| | 1x4=4
- Sies mmmmf?mﬂﬁawm 3
TR maf‘@wn?ﬁ@wﬁga’ﬁmmﬁ B

() What is ‘marketable surplUSf in the éontext of agricultural

production ? |

P BesAms (F© ‘ﬁzﬁmﬁﬂ @

i S O Ry Bg Ay
S, fegTaf el EETE S’ 4w 2

96 / ECON [13] Contd.



f\} |
-
2

(i) Wri,te-the full form of NCERT.
NCERT 3 5=} @| foal :
NCERT-Gg 57}sf T Gl
NCERT-f7 a11g uma‘} feri |

" (iii) Which Ind1an company bought the Enghsh tea compal’ly
‘Tetley’ 1n 2000 ?

-~

(PICH SRS mﬁm zooo e 3@1@3 17E] @wn:ﬁ ‘Tetley
(Y wasﬁﬁ—wr |

| @m—mﬂa mwnfﬁ zooo wmw RN Tetley (aﬁ;@)
mwﬁm

i R 2000 T 3@7031“7{ R m:n Tetley
() arqanﬁv

(iv) The owner of a Saloon.i.s a regular salaried/self-employed /

casual wage labourer. (Choose the correct option)

4o (5o AR T e R mﬁ/m/m
ETREfw - | (%% R fisrq =)
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R (TR T e e @eet/ARers /e
TR Wi | | , (&% [l mﬂf@).

@meémwm/mmﬁfawm/#a’amﬁ
ST | (7 e AE’)

(v) What is India’s ranking in terms of Human Development

Index, 2023-24'?_ . 'Cv\

2623-24 @www cm%’wmﬁwo
2023-24-4 WWW CWWZ{RW?
;023_-24 mmwwmmww

(vi) Agrmre/lndustry/Servmes sector: is the largest
contr1butor to the Natlonal Income of India at present.

{Choose the correct option) '

WW“WW m@zfﬁ/@cm/m miwﬁas aa@ﬁ |

| (@*a-ﬁwﬁmwr)

ﬁmmwﬁwqﬁ/ﬁﬂ/mm@mﬁaﬁw

AR (7 Rl (AR A1S)
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.swmma¥mmﬂmmﬁg@§ﬁemﬂ?nsmmvaﬁﬁmﬂﬁﬁmsﬁﬁaaf

Tafrgg =ife fadm g (N Ffgeeng aaE’)
7. Answer any five of the following questions : ‘ 2x5=10
fﬁﬁacm@mmrﬁw%ﬁm@@%amea .
T rERawEr wiarary e

{t) Write two causes of slow econémic growth and re-emergence

| of poverty in Pakistan.
AT TZ7 G oT Y O wREror e SR 757 wRe Bl |-
9M$@F@§§wwﬁﬁ%¢¢%q«ﬁﬁ@@@ﬂm@mmmgﬁamq@nm|

T e e |
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(i ,/Cilassify the following into renewable and non-renewable
5‘/ . resources : | |

(

Wﬁammﬁa?qmmw@:@mcmﬂm TR 4 ¢

RS ATl Ga8 SRS IRFRCTCI) 77107 (TR st 3

TR S R 318 AR G ol A

WA -

(@) Tree

(b) éqal
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(c) Iron ore
FT A
i
@ Seaﬁsh.‘ - » s
\.WMQNV@A/?///"
TR G )
.éﬁmmim" '

(i) Write two benefits of formgu sector 'e;m'ploymentf
Wwﬁﬁﬁ? 751 e e
@ﬂéﬁﬁvaaﬁ%ﬁ%iﬂ?ﬁﬁmCﬂém

- .%Nﬁ@%ﬁfmﬁﬂaﬁ(@@)ﬁ?t
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(iv) What do you understand by outsoﬁrcing ? Write with an

example.
fReBesT ozl et B ot ¢ SargaeTg |

BB eizel TS F @W?WW Gl |

SESGE! ST St T g ? fafefeli et

(v) What are the types of econOnﬁc syétem ? Which economie
system di_d India adopt after independéhce ? 1+1=2
@Qﬁaﬁﬂswm'@fﬁﬁﬁiﬁsmmﬁ%w (TR A
] efgd SR |
welafos T eRER A By AR AR TS @ FLAT
<RIl ez wrsfEst?
daferR EferAe AGAERT H 71 ? IS S s e -
el SSTEgHA ?
0] . |

[19] ) Contd.
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(v} Write two important achievements of India’s ‘educaUOn'

sector.
@mﬁﬁﬁhﬁﬂéaﬁi@ﬁﬁﬂhﬂﬁW@Hﬁﬁl
@RﬁﬁﬁmﬁmmﬁgﬁﬁwmﬁEUWquéxmf
WﬁﬁrmﬁmﬁﬁﬁaﬁiWﬁtmﬁaﬁaaﬁanmqﬁﬂi

(vii) What are the aspects included in ‘agricultural mérketing”

process ?
#ﬁﬁﬁm’aﬁsﬂw%%ﬁﬁ@w’@m
TR Rt et 1 91 firs sroge a7

‘W@W’Wﬁ@?@ﬁmmﬁﬂ@wmz
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8. Answer any two of the following questions : ‘ 3x2=6
O fAreea 7t eia B firm 8
AR I S AR TEI e
(i) When did the Central Pollution Control Board of India was
established ? Write two functions of this board. ~ 1+2=3
ClReaEs T Ed fmee sifRan (font sion P (afee 7 @R AT
7oy Y T

W@@ﬂ@qﬁm%ﬂﬁw%iwmﬁﬁmim i
R Al | |
A @i fel |
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(i) Match the left and right hand side of the following table :
©ER IfFRE NG S (et e 2
Mo SifFrta A 92 G Gte s

T o7 eFt STy P sy s i

1. Prime Minister VA.. Seeds that give large pfoportion of
ﬁifﬂﬂ@? o ‘o‘ut'pu’tg |
o '%ﬁ#uqmééﬂmﬁﬁaw%
’ ‘HET%I@I | | . | ﬁ%wﬁwﬁﬁwmﬁﬁi’m%

2. Gross Domestic Product B. Qﬁantity of goods that can be

0 0PI Geott | imported
o B Wﬁw oW o
aﬂl‘s’?@?ﬁ@?vﬁ | | memﬁm@m
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Quota

.

Land reform measures .

o W IR

?ﬁﬂﬁﬁm

Gl WW

C .‘.\,Chairperson' of the Planning

’ Commission

D

ﬁéﬁn}mﬂﬁa Rl

S SR T4

g T SRR

The mohey value of all the final

| . goods.and services produced

(23]

~within the economy in one year |

5 TS @R e T et

TR S IR AN W R

LW\

% LT @ e agg Sestifre

T SN RGN T R (R

AT

e e g
T S AEEE 39R 3R
Jomit T |

Contd.




5. HYV seeds
T TeoEy 915
T BesiwE e

el QiR S

6. Subsidy
ARy

®R 153

96 / ECON

E. Improvements in the field of

agriculture to increase its

productivity
Gl el 3fad A P GO AN R
IS
Cesitardiienel s G PR A 1
e

e TR rEr SR fafier

A& ST

~F. The monetary assistance given by
-government for pfoduction

activities
Bt T 104 e ot

GeolFR I ) IR G

N

s

f@ﬁmmﬁﬁmmmﬁ‘
=

[24]



(iii) Who is a worker ? Are the following workers — a beggar, a

thief, a smuggler and a gambler ? Why ? 1+2=3

- i <o IR oI, (bfd, (IR R, GaR — 2T
T 2 i weeffat | |
s < 0T 2 o, (o, (PRI, T — a3 i 2 Pl
RS | | B | |
- R I e ? SR R )
(iv) Explain the ‘great leaﬁ forward éampaigﬁ’ of China as’

initiated in 1958.

1958 5 51 &7l 41 ST 28 Wi SIS T gt
1958 e S ezl 1 STLd Ja. WelolfS WfSRA FKTwA i
@ | | |

1958 AR . STSEAE ‘great leap forward Sraf@ER 1
eecet |
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. i ng 6x2=12
9. Answer any two of the following questions :

ST RIeIeeT) bt eiq Saq 3
TR @-eIza 75 v Bt whe

(J Write a note on the de\}élopment path of India, China and

Pa.kistan. '
OIS, 5 W1 AR et Seve o{Reie R <1 (O il |
Wﬁﬂm\mﬁ@mwwwmﬁmaﬁﬁm (0 |
9T, <, S Wty e s g Y )

(i) Write two differences between human :capital and physical
capital. Discuss the sources of human capital formation.

. 2+4=6
T T B (STTOF 4T T/ A1 ol 1 1 et 8 Sz
S .
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"R R @R} (S SEER 5 A9 (TN | S I 1T

BT il 0 |
T | |

_ _(iii) .:DiS;Cl_l?S.S the ‘irr;lportancé, of credit for rural developmlent.
Write three differences Between formal ahd informal sources
of rural créd‘it. - = .‘ | | 3+3=6
2 BT A 4 TG ool < | 2 4l ST i
SIS e R oM |
offy BT T AT ATl SIS A | 2 A IR
43 TSI BT fo sl Tl .

iy TR ATEr <R TR S | T SRR W SR S

G de™ ERET e
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(iv) Write short notes on any two of the following : 3+3=6

T R A R o (O e

TSR - ﬁaﬁm e Bt (=Tl 8 3

(@) Import Sui_astitu;ion' trade policy

(b) Role of srpall-sc;ie fndustry in Indian economy
SECERCE R Oy T STIeR \fﬁm |
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i time of
(c) Condition of agriculture sector of India at the

ipdependence
JES———
TR T ST W RAkL

10. Answer any one of the foilqwing questions : 8x1=8

o Tt abr e S
WW@WdﬁMWW

(i) What is organic farming ? How does it help in sust,aingble

development ? Write three m_erifs and ‘two limitations of
organic farming. 1+2+5=8
mﬁqﬁﬁiﬁﬁo‘ﬁs?ﬁjﬁmww.mﬂWW?
T R S{ETeA fOrD! T SI Fo el o |
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i R oafs Ry @@ Awfl azre S Fleid A2 T2
@@ I Aafor ol e @ 7l Asawe! e |

TR BTG HT e T 2 3 ife AT ol AT
mm?ﬁqﬁmﬁaﬂaﬁwaﬁﬁrﬁqmtﬁaﬁmmﬁ
i fer

(i) “The threat to India’s environment poses a dichotomy.”
Based on this statement, write an analytical note on the

current environmental situation and problems in India.

What are the factors responsible for‘land. degradation in

India ? ' ‘ o : 6+2=8

“ereRs i 2f ol fer it wRite " €2 SR fofew
RO TEAN ST W] O FPPIR KA Bt KOs (il
ﬁmnw%wmaﬁ.mﬁsﬁw |

‘Wmﬁ%ﬁmwmﬁml”ﬁﬁ
T;Frwwwmavnﬁvn%wwwﬁﬂmqﬁ?

Wﬁﬂ‘fmﬁ?ﬂ @ZﬁIIWW@QWQﬂWW@WWﬁ@%
Wi 2

96 / ECON | [30] '



IR R STy e eion e a4 gt e
TR TR sty sy A ST At @R
TSR Y ot | serea iy <o &P ST ST SRR
T2

(1)) Briefly write about — (a)industrial sector reform (b) financial
sector reform and (c) tax reform measures undertaken as

part of lib.eralizatibn policy of economic reforms, 1991.
3+3+2=8

SRS 1991 57 SftAfess e srasfe Sridiedd Mfea s et
ol 11 — (a) SO Q8T 5ICHR (b) RS 293 FHT AE ()
TowR RE e A |

RS 1991 WW@%WWWWqWW*mﬁ
el =@ — (a) @mﬁéﬁs 0e7 FHR (b) Em% RAEEROEEES (c)
'mawﬁmﬂ\mﬂawml

YRATE 1991 mmﬁv@mmmmm@ﬁm
fsaﬁ—unﬁ‘r (a)arﬁmﬁ@ﬁﬁmmmbmm@?h@mﬂ(c)
@m@zﬁmﬁﬁrﬁr—éga'ﬁ%@al
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